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: investor Mr. Z holds 5% equity shares of Levered Ltd. Is it possible for Mr. Z to reduce his outlay
B earn same return through the use of arbitrage process ? Illustrate.

; ;mugh arbitrage process it is possible for Mr. Z to reduce his outlay and earn the same return as
follows :
1. MrZ would sell his 5% shares in Levered Ltd. for Z 37,500 (5% of T 7,50,000)

'9, Hewould create a personal leverage equal to his share of debt in the Levered Ltd. by borrowing
. 225,000 (5% of T 5,00,000)

Total amount available with him is ¥ 62,500 (Z 37,500 + Z 25,000).
He would buy 5% of shares in Unlevered Ltd. for Z 60,000 (5% of z 12,00,000)

The income position of Mr. Z by switching his holding from Levered Ltd. to unlevered Ltd. as
follows :

Existing Income in Levered Ltd. L4
EBIT 1,20,000

Less : Interest on Debentures (6% of T 5,00,000) 30,000

Earning available to equity shareholders for dividend 90,000

5% share of Mr. Z (5% of T 90,000) 4,500
Income in Unlevered Ltd. after switching his

holding from Levered Ltd.
EBIT { 120,000 |

 Less : Interest on Debentures : NIL
Earnings available to equity shareholders for dividend 1,20,000

| 5% share of Mr. Z (5% of ¥ 1,20,000) 6,000
Less : Interest on Personal loan (6% of X 25,000) 1,500
4,500

return from the Levered firm is T 4,500 same as in the Unlevered firm. However, the funds
NVolved in the Unlevered Ltd. are T 60,000 only and thus, the investor can save an amount of T2,500.
‘Nerefore, it is possible for Mr. Z to reduce his outlay to earn the same return through the use of
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(b)

(r;)

For levered firm Q Ltd. (V)

Vi = Vy + tD
T 13,00,000 + (0:35 x T 4,00,000)
T 14,40,000

In this case, the market value of equity(s) is ¥ 10,40,000 (X 14,40,000 - % , g
[ V=S+Dor, S=V-D] ,
Determination of Cost of Equity (K,

For unlevered firm P Ltd.

— 10%

For levered firm Q Ltd.

EBIT

Less : Interest (5% of T 4,00,000)
EBT

Less : Tax @ 35%

EAT/Earnings available to equity share holders/Equity Earning (E,)

Now, We know that, Market Value of Equity (S) =_¢

\ “a AON IR RS ,‘ i K

Determmahon of Overall Cost of Capltal :(I()
For Unlevered firm P Ltd. : j 4 i
Here, K, = K = 10% (- unlevered) St i &
For levered firm Q Ltd. :

crfefiy w‘iﬂm
=D T SR
Ka = (_V )Kd (1- t)+(VJ{<_ ': Q‘Ri .

B%E]Kd“"‘)."".‘ Bl
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ZJ) The computation of different values for P Ltd. and Q Ltd. can be shown in a summarised
form as follows :

[ Frm EBIT | Corporate | Market Value
= _®  |[TaxRate®) | () @ | Equity
P Ltd. 2,00,000 35% 13,00,000 10%
(Unlevered) -
Q Ltd. ~2,00,000 35% 14,40,000 11-25% 9.-03%
(Levered)
) Comment :

Itis evident that because of corporate income taxes, the levered firm (i.e., Q Ltd) can lower its cost
of capital or increase its market value by continuously increasing leverage in its capitalisation. M-M
hypothesis suggests that in order to achieve optimal capital structure the firm should strive for the
maximum amount of leverage when interest tax-shield is taken into consideration.



